from Joseph Williams, Style

The Problem of Clarity:

1. The cause of our educational system's failure at teaching basic skills to children is not understanding the influence of their cultural background on learning.

2. Our educational system has failed to teach children basic skills because we do not understand how  their cultural background influences the way students learn.

3. The Federalists' argument that the destabilization of government was the result of popular democracy was based on their belief in the tendency of factions to further their self-interest at the expense of the common good.

4. The Federalists argued that popular democracy destabilized government, because they believed that factions tended to further their self-interest at the expense of the common good.

Playing with Sentences:

Although the governor knew that cities needed more money for the schools, she vetoed a bigger education budget to encourage the cities to increase their local taxes.


to know > knowledge


to need > the need


to encourage > encouragement

to veto > the veto








to increase > the increase

Verbs and Actions: Find the actions in nominalizations, adjectives

1. Our lack of data prevented evaluation of state action in targeting funds to areas in need of assistance.

2. The results are indicative that the data are representative of the population.

3. There is opposition among voters to nuclear power plants near population centers because of the widespread belief in their threat to human health.

Revise these sentences. At the end of each is a hint. For example, 


Congress’s reduction of the deficit resulted in the decline of interest rates. [because]


Interest rates declined because Congress reduced the deficit.
1. The use of models of good prose in teaching prose style does not invariably result in improvements of clarity and directness in the writing of students. [Although teachers have used…]

2. Precision in plotting the location of fragments of a vase or other object enhances the possibility of its accurate reconstruction. [When you precisely…]

3. Any departures by the staff from the established procedures may cause delays and even termination of the experiment. [If the staff…]

4. A student’s lack of socialization into a field may lead to writing problems because of her insufficient knowledge about the construction of arguments by professionals in that field. [When…, …, because…]

5. The successful implementation of a new curriculum depends on the cooperation of faculty with students in setting achievable goals within a reasonable time. [In order to…,….]

6. Our evaluation of the outcomes of the programs placed emphasis on objective measures despite our recognition of the low level of rater agreement. [When …, …., even though …]

Which One's Clear and Direct, Which One's Not?

1. Some have argued that carbon dioxide in the atmosphere will almost certainly elevate global temperature.

2. There has been speculation by educators as to the positive effect of a good family environment on educational achievement.

3. Smoking during pregnancy may lead to fetal injury.

4. When we write concisely, readers understand more easily.

5. AIDS researchers have identified the AIDS virus but have failed to develop a vaccine that will immunize those at risk.

6. Attempts by economists at formulating principles for the definition of full employment have not achieved full success.

7. Complaints by editorial writers about voter apathy do not often provide suggestions about dispelling it.

8. Although many critics have claimed that when children watch television they tend to become less able readers, no one has yet demonstrated that to be true.

9. 
The loss of market share to Japan by domestic auto makers resulted in the loss of employment of hundreds of thousands of workers and a decline in domestic auto production.

10. If educators could discover how to use computer-assisted instruction, our schools could teach more complex subjects and students could learn faster.

11. We need to know which areas of our national forests are being logged most extensively so that we can save virgin stands at greatest risk.

12. There is a need for an analysis of the intensity of library use to provide a reliable base for the projection of needed new resources.

13. Professional athletes often fail to realize that they are unprepared for life after stardom because their teams protect them from the problems that the rest of us adjust to every day.

14. Many colleges have come to the realization that continued increases in tuition are no longer possible because of strong resistance from parents to the high cost of higher education.

15. In this article, we examine how buyers influence advertising and how advertising agencies respond to those influences when they create a strategy that appeals to consumers.

16. This study is a review of responses to rhetorical patterns and of judgments of textual well-formedness by readers with prior knowledge of a subject before reading. 

Clarity, not simplemindedness:

To the degree that you can match actions to verbs and characters to subjects, your readers will think that you write clearly. But you also have to avoid a prose style that makes you sound as if you cannot connect your thoughts. This was written by a student aspiring to academic sophistication:

After Czar Alexander II’s emancipation of Russian serfs in 1861, many freed peasants chose to live on communes for purposes of cooperation in agricultural production as well as for social stability. Despite some communes’ attempts at economic and social equalization through the strategy of imposing low economic status on the peasants, which resulted in their reduction to near poverty, a centuries-long history of social distinctions even among serfs prevented social equalization.

In his struggle to follow the above principles, he revised that paragraph into sentences that could have been written by a 12-year-old:

In 1861, Czar Alexander II emancipated the Russian serfs. Many of them chose to live on agricultural communes. There they thought they could cooperate with one another in agricultural production. They could also create a stable social structure. The leaders of some of these communes tried to equalize the peasants economically and socially. As one strategy, they tried to impose on all a low economic status. That reduced them to near poverty. This happened because even serfs had made social distinctions among themselves for centuries. 

One can connect too-short, too-simple sentences into a style that is readable but still complex enough to communicate complex ideas:

After the Russian serfs were emancipated by Czar Alexander II in 1861, many chose to live on agricultural communes, hoping they could cooperate in working the land and establish a stable social structure. At first, those who led some of the communes tried to equalize the new peasants socially and economically by imposing on them a low economic status, a strategy that reduced them to near poverty. But the communes failed to equalize them socially because the serfs had for centuries been observing their own social distinctions. 

A passage for revision:

The frequent use of nominalizations instead of verbs results in the frustration of reader expectations. Their expectation is of characters as subjects and their actions as verbs. Increased reader frustration results from dropping characters from sentences altogether. That feeling no doubt occurred in your reading of this:

Once upon a time, as a walk through the woods was taking place, a jump out from behind a tree caused surprise.

Dropping Little Red Riding Hood and the Wolf from the story became a possibility subsequent to the nominalization of the verb walk into the nominalization walking, the verb jump into the nominalization jumping, and the verb surprise into the nominalization surprise. And had I done that, you would have stopped reading long ago.

